Kalkulatu funtzio hauen deribatuak:

10.-

11.-

12.-

13.-

14.-
15.-

16.-

17.-

18.-

19.-

20.-

-fO0 =3 - V2x +

- f(x) = sin(x? + 5x — 1)

- f(x) = Jsinx +sin(/X)
- f(x) = sin?(x® + 1)

- f(x) = In(Inx)

-f(x) = (< = JX +sinx)"
- f(x) = In(( e

1-sinx

-f(x) = Yxdx+1

-0 = £
f) = In(43%
fo) = [E
fx) = e
() = In(Ve™™ )
fo) = 35T
f(x) = In(sinxcosx)’
100 = sin(¥X 71 ) cos (X 1)
f(x) = 7o
fx) = cos? ({fx+ 3-%)? )
() = 5
o) = (252)°
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fx) = =

sinx
) = Sk

f(x) = e*(x-1)

) = 45
00 = v2X

f(x) = In(@2x— 1)
f(x) = In(x2 - 1)
)= In(Jx=1)
f() = 5

f(x) = sin®(x*)

f(x) = sin(x?) cos?x

in2
00 = Teor
f(x) = e+

f(x) = cos®(2x + 1)?

f(x) = In(x)
f(x) = #sin(x?)
0 = [15

f(x) = [x/X

f(x) = In(ﬁ)
f(x) = In(sin(ve¥))



Soluzioak:

- f =3x2__1__ 3
1.-f'(x) = 3x =

2.- f'(x) = (2x +5) cos(x? + 5x — 1)

_fl(y) — _COSx cos /X
3.- f'(x) ) i + 2%

4.- f'(x) = 6x2sin(x® + 1) cos(x® + 1)

5.-f/(x) = —

xInx
6.- f'(x) = 4(x% — /X +sinx) (ZX L4 cosx)
7-(x) = &«
8.-f(x) = —22__

44x2(x+1)3
9.-f'(x) = W
10.-f'(x) = &
11-f (0 = b 1
12-100) = i
13.- f'(x) = L

2c0s2x

14.- f'(x) = %(lns),/sx+1

15.- f'(x) = (2cosBxsinx — 2 cosxsin®x)

cos2xsin?x

/ N 1
16.-f'(x) = i

X+1

17.- f'(x). = 2x(In7 cos(x? + 1))75nC+D)

18, F/(x) = —4 25 cos(s/x+(3 X) )sm(,s/x+(3 x))

3 x+(3—x

19.- f/(x) = X0

(x+1)3

2 2(y2_
20._ f/(X) — 3(X +1) (X l)

x4

X+1




21.- f/(x) = —-<osx

sin?x

22.-f'(x) = =L

cos?x

23.-f'(x) = e¥ +4(x - 1)e¥
24.-f(x) = Z(x-1) - 2 (1 -x)?

25.- f'(x) = 1(In2) y2¥

26.-f'(x) = 54
27.-f(x) = 24
28.-f'(x) = z(xl_l)

29.- f(x) = 4 — nx

xeX e*

30.- f'(x) = 4xcos(x?)sin(x?)

31.- f'(x) = 2xcos?xcos(x?) — 2cosxsinxsin(x?)
32.-f'(x) = 0

33.- f/(x) = 2xe***!

34.- f'(x) = —12(2x + 1) cos2(2x + 1) sin(2x + 1)?
35.-f(x) = -+

36.- f'(x) = 2x Z?;((:ZZ; Jsin(x2)

! _ 1-2x 2
37.-f(x) = /15 N T

38.- f/(x) = &L

39.- f/(x) = =1

2X(x+1)

| Jex cos(JeX)
40.- f'(x) = % (4





